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Examination, February/March 2023

(NEP Scheme)

SANSKRIT

Nitishatakam of Bhartruhari, Grammar and Comprehension

Time : 2% Hours

Max. Marks : 60

Instructions : 1) Answer either in Sanskrit/iKannada/English.
2) Question No. VI a and b must be answered in Sanskrit

only.
. e <) fga |

psteloverial em'édsziagl 302 LTCDD.

Select the correct answer.

1) ifcRrasRe el @ ?
37) YHE:

2) T ERECIUES| I 7

) T 1) FHI
3) qes % 7 Tyt ?

3) TS 3m) F:
4) dpfeArq w: fommamia 7

) 7=

3) Ui

5) qfi: % 39 TGS BT ?
) wEAINE

3) Sgdite
6) fereraes Wi ferer @l ?
g am) A

3) WcE:

3) Aqeit

3) IR

3) <

31) Y
3) TSI,

31) WAt
3) ool

3) Tl

(10x1=10)
3) TS
3) e
%) geTivn
%) 94
RP.T.C.
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7) Jrfosar R 5 7

) ST 31) 1t
%) WA 3) e
8) WA : wgha 7
A) TS 1) Jud: 3) W 3)
9) fomiug: S e ¢
) TR 31 e
3) &R 3) T &)
10) &d Tom: TF s
31) a 3T) HIH 3) ufved 3) T
Il. veea T I R | (1x10=10)

20T 5_;:2 i YUS0X.

Answer any one question.

1) HJEL: SRl el Jeameh forad |
138,003 T3e3 5o BCDHR), BIVBO B,WOGFHPOTRY, WIOWD.
Write an essay on place, date, works of Bhartruhari.

2) ““Toramn: dgem’ aviEd |

" T 030 WHE W), WEIFAD. ®
Explain the “Importance of Knowledge”.
lil. ga: ergfeofi foreq | (2x5=10)

C3RTYTRTTR HTEE OO LTES WIOD
Write short notes on any two :

1) IE: Hgcdq

2) e Hig

3) @A,
4) T@INEHT T _ |
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V. gl gellaral: i gheent rrared fergera |
Slate SRANIS Tl IR, IHITROBON YREIBF B33, AR
| mnslmo and oxpl.nn any two of the followmg.

1) sngafm g fafeat g
gnafd fewf gty
Qa: warcafa fogg anfa <Aifd
Teagha: s 3 w0t gar )

2) Sigatd arenfaes
Prevmadien ergeniey o
e e fyee 7
:IPQ"WT?J%{ E@"sﬁsff_@:qﬁ

3) smnfrian forrfaamema
T B P i fermn
BRI RABE R BT A
Jaehfdrregre w9 ||

4) enfaScreeA & Remff: siafeq <
TifadeTar & afe gefesid: T &
HTer ey ot gehtaar At T T 1|

V. ga: e T |
O3RR)TZOTTH adquxodwrmoé QWOX
Explain with reference to context on any two.

1) @ AT |

) TATEgEEY T ] A o |

3) feiwa: geifeer wmet fenqeoT SRETivSET |
4) A 7 eI YT O T Mol |

N

AECC - 6.4

(2x6=12)

(2%4=8)
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VI, Epd W I foed |

a) T WY Ry 7 R | (1%5=5)
1) A
2) EREIGE
ORES
4) <@y
5)
6) JTTATIY
7) IRONET:
8) el

by s gfswan weamT Swfn fored | (5x1=5)
ﬁdgmﬁda& (o) a_)“)%rie:)ﬁ em§b%©.
Read the following passage and answer the questions.
Tehd Hiiecy THIEUM STfeemTeani Mg, | Snfewiy: dredifes: e &l |
: THRVRIAEGE o TS g9hd: | AR Iciesd e &l
Sehvee et fawd | Teher aretifes: T qHEn T oTTeeq | @ a9
T TR TR JEIRIR shig<it shiguteaon gt | afem=a & =nen fog: s

T oo | il T RN | T STaeiehad: dienieh: JET S S
TeTeREur e |

ST

1) T&pd Hifeed foh red nTicemreatita T, ?
2) UHRIVIICIRIgI: {0 HI08 Sad 7

) meﬁ@ ?

4) ?ﬁif’l:m?f‘ﬂﬂm?

5) STeHich: TETq, IMAfea: s w7 fofe 2
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